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QUESTION 1

Hyperledger is an enterprise focused blockchain project. This project was released by a consortium under the umbrella
of the Linux Foundation\\'s Hyperledger Project.

What year did Hyperledger go live?
A. 2013
B. 2012
C. 2015
D. 2009

Correct Answer: C

QUESTION 2

Which scenario would it be most appropriate for a blockchain solution to implement a Proof of Work or Proof of Stake
consensus?

A. When the blockchain needs to be permissioned

B. When the aim of the blockchain is to be a trustless as possible
C. When the blockchain needs to support millions of transactions
D. All of the above

Correct Answer: B

QUESTION 3
In regards to understanding the Ethereum Virtual Machine what statement is true?

A. The EVM is extremely powerful, non-turing complete and perfect for doing computational intensive thins, because of
the direct access to the graphics card.

B. The EVM is extremely powerful, turing complete and perfect for doing computational intensive things, because of the
direct access to the graphics card.

C. While the EVM is Sandboxed, it isn\\'t as powerful as the Bitcoin network, because it\\'s not Turing Complete

D. The EVM can\\'t access hardware layers or anything outside a blockchain node because it\\'s sandboxed.

Correct Answer: D

The EVM is basically a sandboxed virtual machine running on every single node. It is Turing complete and a transaction-

based state machine. The nodes reach consensus by executing all transactions. Only the miner node gets the block
reward, all other nodes are just checking if the miner was "honest".
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QUESTION 4

Records on a public blockchain are deleted by?

A. They cannot be deleted

B. Filing a request with the Ethereum Foundation
C. Recalling the transaction of Etherscan.io

D. Deleting the transaction from the app that sent it

Correct Answer: A

QUESTION 5

You are using Truffle for an Ethereum contract and would like to use a default set of contracts and tests from within an
empty project directory.

What is the syntax?
A. truffle defaults

B. truffle init

C. truffle test

D. truffle compile
Correct Answer: B

Reference: https://github.com/trufflesuite/truffle
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